CITY OF NOVI CITY COUNCIL JULY 6, 2020



SUBJECT: Consideration of approval of Change Order No. 1 to Pro-Line Asphalt Paving Corporation for the 2020 Neighborhood Road Program – Asphalt Streets in the amount of \$158,437.50.

SUBMITTING DEPARTMENT: Department Of Public Works, Engineering Division

EXPENDITURE REQUIRED	\$ 158,437.50
AMOUNT BUDGETED	\$ 900,000.00
APPROPRIATION REQUIRED	\$0
LINE ITEM NUMBER	203-203.00-864.213

BACKGROUND INFORMATION: OHM Advisors assisted the Engineering Division with developing a list of potential streets for the 2020 and 2021 Neighborhood Road Program (NRP). The program was divided into two contracts, concrete roads and asphalt roads. The programs were also advertised for a two-year contract to secure unit prices and lower the overall costs of bidding and design.

In the 2020 asphalt program, the intent was to reconstruct most of the remaining streets in the Greenwood Oaks Subdivision from the 2019 program. All remaining streets, except for Wellesley Court, were diagnosed and rated as requiring complete reconstruction and fit the current overall 2020 budget. Wellesley Court was considered an 'alternate' street with a slightly higher PASER rating. During the initial vetting of the contractors (Pro-Line Asphalt Paving Corporation) bid, it was determined that Wellesley Court would not be part of the current program. However, after the opening of bids for the Cranbrooke Drive Reconstruction (10 Mile to Village Wood) project, staff identified cost savings below the original engineer's estimate. These savings are being utilized to add alternate streets in both the asphalt and concrete programs, including Wellesley Court.

RECOMMENDED ACTION: Approval Of Change Order No. 1 to Pro-Line Asphalt Paving Corporation for the 2020 Neighborhood Road Program – Asphalt Streets in the amount of \$158,437.50.



Map Author: Rebecca Runkel Date: 6/23/20 Project: Wellesley Ct Version #: 1.0

MAP INTERPRETATION NOTICE

Map information depicted is not intended to replace or substitute for any official or primary source. This map was intended to meet National Map Accuracy Standards and use the most recent, accurate sources available to the people of the City of Novi. Boundary measurements and area calculations are approximate and should not be construed as survey measurements performed by a licensed Michigan Surveyor as defined in Michigan Public Act 132 of 1970 as amended. Please contact the City GIS Manager to confirm source and accuracy information related to this map.





City of Novi

Engineering Division Department of Public Works 26300 Lee BeGole Drive Novi, MI 48375 cityofnovi.org

N

24,000

Feet

1 inch = 21,500 feet

citvofnovi.or

6,000 12,000



WORK CHANGE DIRECTIVE & CHANGE ORDER No. ____1

Project: Owner:	2020 NR		96233							
Owner:		P - ASPHALT STREETS		·			02-01, WTS026,			
WIIEI.	City of N	ovi	Engineer:	OHM Advisors						
		ee BeGole Dr.	Engineer:	34000 Plymouth Re	had					
		chigan 48375		Livonia, Michigan						
	(248) 73			(734) 522-6711						
contractor:	r: Pro-Line Asphalt Paving Corp. This document hereby renders changes in the Work, changes in the Contract									
		Mile Road		ges in the Contract Pric						
		ton, Michigan 48095	balancing individual Contract line items through a signed authorization of the Prime Contractor, Owner, and Engineer.							
	(586) 753	2-7730	Prime Contract	or, Owner, and Engine	er.					
Drafted Date:		June 23, 2020								
	1	esley Court (in Greenwood Oaks) to the 2020								
teasoning:										
			EXISTING CONTRA	CT ITEMS						
Itom No	Division	Item Description	Unit	Unit Price	Quantity	Contract F	Price Deduct			
ltem No. 0	Division 1	"Crew Days" - Base Bid	Unit CD	\$700.00	Quantity 19	Add	Deduct			
0	2	"Crew Days" - Alternate Streets		\$700.00	13					
0	3	"Crew Days" - Lift Stations	CD	\$700.00						
0	4	"Crew Days" - Fire Station No. 3		\$700.00						
0		"Crew Days" -	CD	\$700.00						
1	1	Mobilization, Max	LS	\$8,000.00	1	\$8,000.00				
2	1	Audio-Visual Route Survey	LS	\$5,000.00	1	\$5,000.00				
6	1	Curb and Gutter, Remove	LF	\$10.00	120	\$1,200.00				
7	1	Pavt, Remove, Modified	SY	\$5.00	2413	\$12,065.00				
14A	1	Aggregate Base, 4-inch, Altern		\$10.50	2413	\$25,336.50				
16	1	Geogrid, TriAx 130S	SY	\$2.00	2413	\$4,826.00				
26	1	Case 3 - Adjust Drainage Struct		\$850.00	2	\$1,700.00				
27	1	Underdrain, Subgrade, 6-inch,		\$16.00	1725	\$27,600.00				
30	1	HMA, 4E1	TON	\$110.00	349	\$38,390.00				
31	1	HMA, 5E1	TON	\$120.00	209	\$25,080.00				
34	1	Curb and Gutter, Conc, Det D2,	Modified LF	\$27.00	120	\$3,240.00				
40	1	Traffic Control and Maintenanc	e LS	\$5,000.00	1	\$5,000.00				
41	1	Restoration	LS	\$1,000.00	1	\$1,000.00				
	-									
				+ +						
	-									
	+			+						
				++						
	+	L		+ +						
	+			+ +						
	+			+ +						
	+			+ +						
	+			+						
	1			+ +						
	1			1 1						
	1		İ	1 1						
	1			1 1						
	1			1 1						
	1		t i	1						
	_									
					Subtotals	\$158,437.50	\$0.00			

NEW CONTRACT ITEMS									
Item No.	Division	Item Description	Unit	Unit Price	Quantity	Contrac Add	ot Price <u>Deduct</u>		
-									
]		
			1		Subtotals	\$0.00	\$0.00		
					Total		\$0.00		
Increase/Decre	ease in Co	ontract Price					\$158,437.50		
Original Contra	act Amour	nt					\$2,565,333.60		
Sum of Previou Revised Contra	s Approve	ed Change Orders					\$0.00 \$2,723,771.10		
						г	<i>4_,0,</i>		
THE	CHANGES	ADDRESSED BY THIS CHANGE ORDER HEREE	BY ADJUSTS TH	IE CONTRACT TIM	IE BY:				
Ac	cepted By:								
			Pro-Lir	ne Asphalt Paving Corp.					
Prepared By: OHM Advisors									
Rev	Reviewed By:								
				. ,					
Approved By:									
Ap	Approved By: Tracey Marzonie, Purchasing Manager								
Page 2 of 2									